Math 211 Midterm 2

Name: 4‘4 Swer KGY

This is the midterm for unit 2.

Carefully read each question and understand what is being asked before you
start to solve the problem. Please show your work in an orderly fashion,
and circle or mark in some way your final answers.

No calculators nor other electronic devices are allowed.
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2. (10 points) Evaluate two of the three integrals on this page. If you attempt all three, cross out
the one you don’t want me to grade.
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3. (15 points) (a) Give the partial fraction decomposition of ¢
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4. (15 points) Evaluate / g-e*wz dz.
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5. (20 points) Determine whether this series,converges Er diverges. Give two different explanations

for why.
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6. (10 points) Explain why this series converges conditionally. [Hint: there are two things you need to

check.]
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7. (15 points) Determine the Maclaurin series (equivalently, the Taylor series centered at & = 0) for the
function c(z) = 3 cos(y/@). Write your answer in sigma notation. Determine the first four terms (namely,
the constant through 2 terms) of the Maclaurin series for the antiderivative of ¢(z).
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8. Extra credit (up to +5) Explain why a real number with a decimal expansion which eventually repeats
must be a rational number (that is, can be written as a fraction of two integers).
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(Extra space. Please clearly label which problem the work is for.)
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